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ﬁﬁ: H(Z):jj]—[(ejw):ﬁj‘]{(eﬂ”) =

M0<a<1Bf, AKIEJEP AT BURFIR 5B

®w=0, cosw=]l, ‘H(d“’)ﬁly‘%jﬁﬁ; o=, cosw=-—l, ‘H(ejw)‘ﬁﬁﬂ%d\ﬁo
M-l<a<OB, NEIEJERZE . BURFER &AW

®w=0, cosw=]l, ‘H(ej“’) N/ME; o=7m, cosw=-1, ‘H(ejw)‘ﬁﬂﬂ%j(ﬁo

=05, H(z)-— L %R B 05

1-0.5z"
clear all
B=[10]; %31 25 _H)gma R i 2,2=0.5
A=[1-0.5]; %7k
n =256, % AL

len=-2%pi:2*pi/n:pi*2;
[H,W]=frqu(B A,len);
Sfreqgz: KRESEUR G E
Hf=abs(H); %M sk i
figure(1); %2 ]

plot(w,Hf); | | | | | | |
axis([-4,4,0,2.5]); % B AL bREn 4 3 2 4 o 1 2 3 4
title("H(Z) R A0 5 i 2k ,a=0.5"); B
xlabel("W%");ylabel ('l {11");
grid on
a=-05, H(E)=r0— U op T I s ) K 7
1+0.5z"
clear all
B=[10]; %7 ¥ ”s _ H(minpi L a=-05
A=[10.5];  %7E)
n = 256; % AR 2t
len=-2*pi:2*pi/n:pi*2; E.—a_ 0&5%
[H,w]=freqz(B,A,len); - 157 S
Hf=abs(H): %%l 5 7 = |
figure(1); %2 A
plot(w,Hf); 05
axis([-4,4,0,2.5]); % B E AL bRl ]
title("H(Z) i@ Aime v fth £z ,a=0.5"); 0_4 PUPE (‘) 1 . . "
xlabel('4i1%");ylabel (" {H"); Pk

grid on



2. CHRGEBRBH(2)=a(+z7), MNXRGERE _(KE BB

fif: H(z)=a(l+z")= a(1+l)
z

Bk, ©- 0= SLHE) =al+D=2a  gop B ek,
wo=r,z=e""=-1,H(z)=a(1-1)=0

Yo W g I s IR 7Y FIR

clear all s ‘ H‘(zmﬂﬁ"@&‘ﬂﬂ?ﬁ,a:O_‘S
B=[1 1]; %711

A=[20]; %7 Bk

n = 256; % R AL

len=-2%pi:2*pi/n:pi*2;
[H,w]=freqz(B,A,len);
Hf=abs(H); %o FR S 1 52
figure(1); %= 05T
plot(w,Hf);

axis([-pi,pi,0,1.5]); %o i B ARl [H]
title('H(z) MR . # 28 ,a=0.5"); ol
xlabel(#%");ylabel ("l 11"); ' ' T
grid on
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3. CRIRGUEBRBH(z)=b(1-2"), WiZRGRF_El BEERFTE.

fiff : H(z):b(l—z’l):b(l—l)
z

= = jw: = — = = \ v (=]
AUk . @=0F=SLHE=MA-D=00 gy o e et 0
w=r,z=¢"=—1,H(z)=b(1+1)=2b

Yo W g I s IR 7Y FIR

clear all 15 Hiz)lgsgin i i 2%, b=0.5
B=[1 -1]; %I T al | | | |
A=[20]; %71 Bk

n=256; % ri AL

len=-2%pi:2*pi/n:pi*2;
[H,w]=freqz(B,A,len);

Hf=abs(H); VAU S
figure(1); %2z K]
plot(w,Hf);

axis([-pi,pi,0,1.5]); %o i B ARl [H]
title("H(z) MR A me 5. i 22 ,b=0.5");
xlabel('#17%");ylabel('FE");

grid on




